NATIONAL CERTIFIED TESTING LABORATORIES

FIVE LEIGH DRIVE -+ YORK, PENNSYLVANIA 17406 -+ TELEPHONE (717)846-1200
FAX (717) 767-4100

www.nctlinc.com

Florida Building Code TAS 201-94
Florida Building Code TAS 202-94
Florida Building Code TAS 203-94

STRUCTURAL, IMPACT & CYCLING TEST REPORT SUMMARY

RENDERED TO:

Acurlite Structural Skylights
1017 North Vine Street
Berwick, PA 18603
PRODUCT TYPE: Fixed Skylight Assembly

SERIES/ MODEL: “Secure Series”

Summary of Results

Specimen 1 TAS 202 +120.0 psf -120.0 psf

Specimens 2, 3, 4 TAS 201/203 +120.0 psf -120.0 psf

Air Infiltration per ASTM E283 in accordance with TAS 202-94
Infiltration: 0.01 cfm/ft?

Water Penetration Resistance per ASTM E331 in accordance with TAS 202-94
18 psf - Passed/No water penetration

Static Air Pressure per ASTM E330 in accordance with TAS 202-94

Design Load Pressure +120.0 psf -120.0 psf

Overload/ Structural Load Pressure +240.0 psf -240.0 psf

Forced Entry Resistance per ASTM F588 in accordance with TAS 202-94
Passed — Grade 10

Specimens 2,3,4

Small Missile Impact/ Pressure Loading in accordance with TAS 201-94

Impacts rejected without allowing penetration and the product shows no resultant failure or
distress

Test Completed: 07/25/19
Revision Date: 01/05/22

Reference must be made to Report No. NCTL-110-20884-2 dated 08/27/19 for complete test specimen

description and data. awwwiitg,
\\ /,
SeePHA Re ),
™ QP BRI
$ S CENG O 2
For National Certified Testing Laboratories & 6“-.‘ =
. / S % No.58920 - k=
i = i =
e’ e Z = . =
/ DIGITAL SIGNATURE ;// O ,.‘ STATE OF ..‘ Q/ §
. 2 LA o N
Justin Bupp ////:(2(\ . dg R\Qle\%\\\\\
Laboratory Manager 2SI AN A 2
7, lONAL & W
///////IIIHIIl\\\\\\\\\\

Professionals in The Science of Testing ( :

2022.01.05 08:59:45 -05'00



Q NATIONAL CERTIFIED TESTING LABORATORIES
‘ FIVE LEIGH DRIVE -+ YORK, PENNSYLVANIA 17406 -+ TELEPHONE (717)846-1200
FAX (717) 767-4100

Florida Building Code TAS 201-94
Florida Building Code TAS 202-94
Florida Building Code TAS 203-94

STRUCTURAL, IMPACT & CYCLING
PERFORMANCE TEST REPORT

NCTL-110-20884-2

REPORT TO:
ACURLITE STRUCTURAL SKYLIGHTS

1017 NORTH VINE STREET
BERWICK, PA 18603

REPORT NUMBER: NCTL-110-20884-2
REPORT DATE: 08/27/19
REVISION DATE: 01/05/22

PRODUCT TYPE: FIXED SKYLIGHT ASSEMBLY

SERIES/ MODEL: “SECURE SERIES”

Professionals in The Science of Testing



NATIONAL CERTIFIED TESTING LABORATORIES

FIVE LEIGH DRIVE + YORK, PENNSYLVANIA 17406 + TELEPHONE (717) 846-1200
FAX (717) 767-4100
www.nctlinc.com

Report Number NCTL-110-20884-2

Report Date 08/27/19

Revision Date 01/05/22

Report To Acurlite Structural Skylights

1017 North Vine Street
Berwick, PA 18603

Date Testing Started 03/27/19
Date Testing Completed 07/25/19
Specification: Florida Building Code TAS 201-94

Impact Test Procedures

Florida Building Code TAS 202-94

Criteria for Testing Impact and Non-Impact Resistant Building Envelope
Components using Uniform Static Air Pressure

Florida Building Code TAS 203-94
Criteria for Testing Products Subjected to Cyclic Pressure Loading

Description of Specimen Tested

Note: All dimensions are in the order (Width x Height x Thickness) unless otherwise noted.

Model/ Series “Secure Series”
Configuration Fixed Skylight
Frame Size Overall

Specimen 1 (sloped)
4331 mm x 3324 mm (170.5" x 130.875") high by 2235 mm (88") deep

Specimens 2-4
4331 mm x 3324 mm (170.5" x 130.875")

Viewing Area All Specimens

Large Fixed
1324 mm x 2457 mm (52.125" x 96.75")

Small Fixed
1324 mm x 1194 mm (52.125" x 47")

Specimen 1
Gable End

2032 mm x 851 mm (80" x 33.5")
Frame Type Extruded aluminum
Joint Construction Frame
The verticals were fastened to the horizontals with (2) screws. The purlins

were fastened to the verticals with (6) screws and a metal mounting lug
that was fastened with (3) 3/8" bolts.

Professionals in The Science of Testing



Acurlite Structural Skylights

Glazing Components
Overall
Glass Thickness

Laminated Glass

Spacer Type/Size
Glazing System

Weatherstrip
Operating Hardware

Auxiliary

Type
Location

Type
Location

Type
Location

Type
Location

Reinforcement
Weep Description
Size

Location

Interior/ Exterior
Surface Finish

Sealant
Location

Material
Insect Screen

Installation Method

NCTL-110-20884-2

33.02 mm (1.300") nominal

(1) Lite of 6 mm (0.220") nominal tempered glass to the exterior and (1)
lite of laminated glass to the interior

(2) Lites of 6 mm (0.220") nominal heat strengthened glass separated by
a 1.52 mm (0.060") Solutia “Saflex” PVB interlayer

14.73 mm (0.580") Aluminum spacer (Type A1-D)

Exterior glazed with a multi-fin gasket back-bedding and a screw applied
pressure plate with (2) strips multi-fin gasket. The 1/4 - 20 x 2 1/2 HWH
type F and 1/4 - 20 x 3 HWH screws were located 64 mm and 70 mm (2.5"
and 2.75") on center at the rafter and left purlin. The horizontal sections
were sealed with structural silicone at the exterior

No weatherseals employed

No operating hardware employed

Extruded aluminum flashing
Exterior perimeter of the sample

Extruded aluminum/ plywood panel fillers
Back side/ close off of mock up to chamber

Extruded aluminum glazing adaptor
Horizontal members fastened with (9) screws

Extruded aluminum “purlin” pressure plate screw adaptor
Gable end fastened to the frame with evenly spaced screws

No reinforcement employed

19.05 mm (0.75") Gap in sill pan sponge gasket
Sill/ rafter intersection

Painted aluminum

Exterior perimeter of the glazing, horizontal member back-bedding
flashing to frame
Silicone

No screen employed

The assembly was installed in a steel/ plywood test chamber. The
assembly was fastened to the chamber with aluminum angles at each end
of the rafters. The angles were fastened to the chamber with (2) 1/2 - 13
x 1 —1/2 grade 5 Hex Hd per angle. The rafter was fastened to the angles
with 2 1/2 - 13 x 4 1/2" long Hex Hd cap screw with lock washers and nuts.
The gable end was fastened with aluminum angles at the sill and (2) 1/4
bolts and nuts.



Acurlite Structural Skylights

Test Results - TAS 202

Test Method

Test

ASTM E283

Air Leakage Resistance

Information at 1.6 psf:

Maximum Allowable

Infiltration Rate/ Area

0.30 cfm/ft2
0.01 cfm/ft2

Test Method

Test

ASTM E547
ASTM E331

Water Resistance Test

The test specimen complies with the requirements of TAS 202 at 5.0 gph/ft?

No Leakage after 1 cycle of 15 minutes at 18 psf

Test Method

Test

ASTM E330

Static Air Pressure Tests
Half Test Load - + 120 psf

Positive
Negative

Design Loads - + 120 psf

Vertical

Measured Deflection positive
Measured Deflection Negative

Measured Permanent Set positive =
Measured Permanent Set negative

Horizontal

Measured Deflection positive
Measured Deflection Negative

Measured Permanent Set positive
Measured Permanent Set negative

Measured Deflection positive
Measured Deflection Negative

Measured Permanent Set positive =
Measured Permanent Set negative

Test Loads - + 240 psf

Vertical

Measured Deflection positive
Measured Deflection Negative

Measured Permanent Set positive =
Measured Permanent Set negative =

Horizontal

Measured Deflection positive
Measured Deflection Negative

Measured Permanent Set positive =
Measured Permanent Set negative

No damage
No damage

0.108 inches
0.104 inches

0.004 inches
0.002 inches

0.411 inches
0.002 inches

0.018 inches
0.008 inches

0.451 inches
0.025 inches

0.033 inches
0.012 inches

0.206 inches
0.192 inches

0.002 inches
0.002 inches

0.007 inches
0.029 inches

0.008 inches
0.020 inches

NCTL-110-20884-2



Acurlite Structural Skylights

NCTL-110-20884-2

Purlin
Measured Deflection positive = 0.164 inches
Measured Deflection negative = 0.267 inches
Measured Permanent Set positve = 0.027 inches

Measured Permanent Set negatve = 0.028 inches

NOTE: Deflection and Permanent Set measurements taken on the vertical, horizontal and
purlin with a 0.4%/ 10.46 mm (0.412") for the vertical, 5.28 mm (0.208") for the
horizontal and purlin permanent set limit.

NOTE: Upon completion of testing there was no structural distress indicative of failure

Test Results - TAS 201

Test

Small Missile Impact

Type and weight of missile: (10) 2 g steel ball Speed 130.0 ft/ sec.
*All impacts were performed on the left lite of glass

Specimen 2
Impact
Impact
Impact

Specimen 3
Impact
Impact
Impact

Specimen 4
Impact
Impact
Impact

Location

Upper Left Corner of Glazing
Midspan of Right Side of Glazing
Lower Left Corner of Glazing

Upper Right Corner of Glazing
Midspan of Left Side of Glazing
Lower Right Corner of Glazing

Top Midspan of Glazing
Center Midspan of Glazing
Bottom Midspan of Glazing

NOTE:

All missile impacts were rejected without penetration, tearing, or separation of the
laminate. Shattered sacrificial and laminated glass. No visible damage to the

frame was observed.

Test Results - TAS 203

Test

Cyclic Wind Pressure Loading

After completion of the impact tests, the test specimens were pressure cycled in
accordance with Table 1626 of 2017 Florida Building Code Building.

Maximum Cyclic Load Test Pressure: +120 psf & -120 psf

Specimens 2, 3, 4

Positive Load

Range of Test
+0.2 to +0.5 DP
+0.0 to +0.6 DP
+0.5to +0.8 DP
+0.3to +1.0 DP

Actual # of Cycles
240 psf to 60.0 psf 3,500

00.0 psf to 720 psf 300

60.0 psf to 96.0 psf 600

36.0 psf to 120.0 psf 100



Acurlite Structural Skylights NCTL-110-20884-2

Test Results - TAS 203 (continued)

Test
Cyclic Wind Pressure Loading

Negative Loads

Range of Test Actual # of Cycles
-0.3to-1.0 DP 36.0 psf to 120.0 psf 50
-0.5t0-0.8 DP 60.0 psf to 96.0 psf 1,050
-0.0to -0.6 DP 00.0 psf to 720 psf 50
-0.2t0-0.5DP 240 psf to 60.0 psf 3,350

NOTE: Specimens showed no resultant failure distress or permanent deformation with a
recovery of at least 90% over maximum deflection after cycle test. No failure of
fasteners or separation of glass from the frame.

Test Method  Test
ASTM F588 Forced Entry Resistance

Type D Window Assembly/ Grade 10: = Pass
Specimen 1

Test

Disassembly No Entry

Sash Manipulation No Entry

NOTE: 1. T1 =5 minutes, L1 =667 N (150 Ibf), L2 =333 N (75 Ibf), L3 =111 N (25 Ibf)
2. Loads were held for 60 seconds.

Test Observers

Justin Bupp NCTL, Inc.
Robert DeFayette NCTL, Inc.
Keith Mazzie Acurlite Structural Skylights
Kyle Mayleth Acurlite Structural Skylights

Where required, plastic film (2-mil) was used to seal against air leakage. The film did not affect the
performance of the specimens or influence the results of the tests. All tests were conducted in accordance
with the TAS 201, TAS 202 and TAS 203 test methods. Upon completion of all testing, the specimens
meet the requirements of Sections 1606, 1620 and 1626 of the “Florida Building Code, Building” and the
TAS 201, 202 and 203 protocols.

This test report was prepared by National Certified Testing Laboratory (NCTL), for the exclusive use of the
above named client and it does not constitute certification of this product. The results are for the particular
specimen tested and do not imply the quality of similar or identical products manufactured or installed from
specifications identical to the tested product. All testing was performed in compliance with the referenced test
method or specification and any deviations are noted. Ambient conditions during the referenced testing are
available upon request. Any film employed during testing had no effect upon test results.

The test specimen was supplied to NCTL by the above named client. No conclusions of any kind regarding
the adequacy or inadequacy of the glass in the test specimen are to be drawn from the ASTM E330-02(10)
test. Forced entry resistance test equipment used is in compliance with Section 7 of the ASTM F588-07
test method. NCTL is a testing lab and assumes that all information provided by the client is accurate and
does not guarantee or warranty any product tested or installed.



Acurlite Structural Skylights NCTL-110-20884-2

Detailed drawings were available for laboratory records and compared to the test specimen at the time of this
report. Component drawings were reviewed for product verification. The bill of materials contains details with
any deviations noted. Ambient conditions during the referenced testing are available upon request. A copy
of this report along with representative sections of the test specimen will be retained by NCTL. This report
does not constitute certification or approval of the product, which may only be granted by a certification
program validator or recognized approval entity. All tests were conducted in full compliance with the
referenced specifications and/or test methods. This report may not be reproduced, except in full, without the
written consent of NCTL.

National Certified Testing Laboratories

gy i il
/

Justin L. Bupp Joseph A. Reed, PE

JB/bas

Attachments
Appendix A — Revision Summary
Appendix B — Drawings



Identification

Original Issue
Revision 01
Revision 02

Date

Appendix A

Revision Log

Page & Revision

08/27/19
03/31/21
01/05/22

Not Applicable
Added PE stamped drawings
Reviewed and sealed by Florida PE



Appendix B
Drawings

Component Drawings, with Applicable Part Numbers, Manufacturing and Modeling Details, were reviewed
(as submitted) for Product Verification. Detailed assembly drawings showing wall thicknesses of all
members, corner construction and hardware application are on file and have been compared to the test
sample submitted.

(Reference: NCTL-110-20884-2)

See Attached Documentation;
any deviations noted.

Note: The above referenced component drawings (if applicable) along with representative sections of the test specimen will be
retained by NCTL per applicable retention requirements. This testing facility assumes that all information provided by the client is
accurate.



Test Specimen Complies With
These Details. Any Deviation Is Noted.
Report No. 20884-2 By: JB

Test Date: 07/25/19

Nates SMALL MISSILE

1. The skylight system ndicated on these shop drawings has been verified for comphiance 1n
accordance with the 2020 47th Edition) Florida Building Code, Maximum design pressure

+ 7 20psf and - 120psf,

2. The skylight system may be installed i High Velooty Hurricane Zone,

3. These shop drawings are genenic and do not provide information for site specifit projecis.

4. Structural adeguacy of the supporting struciure is not part of this product approval, Design of
the supporting structure 1s the responsibulity of the engineer of record {or the project.

5. Design of the supporting structure shall take imte account the loads being tansferred from the
skylight system {reactions) to the supporting strocture,

6. The skylight system indicated on these shop drawings tested for smalt missile smpact in
accordance with TAS 203 202 1263,

7. Aluminum i contact with dissimilar materials shall be protected i accordance with section
2003.8.4.2 of the Flonda Building Code.

prv. Jow | oure

5 i
a =
al §
]
SEGMENTED BARRELL QUATER VAULT ~ SEGMENTED BARRELL HALF VAULT
WITH GABLE WITH GABLE
ref R
: =R R
DADE COUNTY USE glugw
: AHE:
LS
HaE
GG RO
. ; et
POLYGON POLYGON WITH JACK RAFTERS 5 o
STRAIGHT EAVE LEAN-TO § s
w0

WITH GABLE

1of13




Test Specimen Complies With
These Details. Any Deviation Is Noted.
Report No. 20884-2 By: JB

Test Date: 07/25/19

®

™ pavUGHT ORENING T

4eE 3747 ik
CL. 10 CL. OF RAFTER

#'-6 3/4°

PLAN VIEW

T pavLIGHT OPENNG T

"TeL TO L OF RAFER

_— -6 374" -
€L Y0 CL, OF RAFTER

SCUE - 38 = 1l
(1} UNIT REQUIRED AS SHOWN

DAVLIGHT OPENNG 7|

FERYE a :
u\) Gl % - |
i !H” i ! - ; I
/T | o5 ;
o (. 25 |
- - §itn !
| & fcs || g | co2 gé cc-3 |
! 5§ i § 3
| %3 s I — :
| & ~lL & e
| §§ s I eE 2
g 1B 8 ;
i 58 €G-3 |
| | Z -
i ) i s
i I | MO

[ Py 44 17 e wlaaya i

]

_GABLE VIEW

CRME 3 e

- 1/47 TEMPERED GLASS '{
i =
’ -y
!
3
A

g
5
t
AED Solutio Softex PV INTERLAYER 4 1
{NCA § 03-0827-081 ‘ ‘5
I (i :

1]

148" HEAY STRENGTHINED GLASS ~f

GLASS TYPE

SIZE
CG—1 54 x 99
Com2 54 _x 96
CG-3 154 x 49 5/8
LG—4 1 SEE PATTERN
/"J‘
»//
—-"/'(
i CG-4
//

T I T T |

-

R L

CROSS SECTION €51

SLNL t 5/ - a0t

CROSS SECTION C5-2

SCALE 1 38 - el

i

2
5[2262

et

T g Mt

;.0

5
Y ek
5w ks

CROSS SECTION €S- 3

SCHE . /E - 10"

o

DADE COUNTY USE

Lo
SECURE SERIES
SMALL MISSILE

PLANS AND ELEVATIONS

L e

FH1E
g ?‘*;

2of13




Test Specimen Complies With

These Details. Any Deviation Is Noted.

Report No. 20884-2 By: JB

Test Date: 07/25/19

L

SNOLLVYAZTT ONY SN

ST Some Laal
.Uu. JNOB “uese JHUSSIN TIVINS B
. L I L.x 5] [=]
SIS JINDISE B Ll ™
o BAEE
Y
X Lk
s
MLt IN¥EL 40 100 04 100 SR , | :
ZE/LE 08 s TR R
£
k)
Wy 1
[} .,h.
| ol
. DNINZHG (T — m
v/t DI g
.. 30YHi 4O 11D O 100
ZEALT 05 T 2
HY O HiHY ..\n
=l
S
[
i = e - M b
T T GNING 0. AHBTANG Ny wib =
i S g T - - - | L
L. . S 3N9BL 40 400 0L N0 | o
28712 06 T g
; ~ ONMEYW O OO 9
| ZELE 08 e !
! &
o s s e 12 A 8 R <= ]
LI TN i e T ey -t N Lo
Til
Hi
L
Pl
% o i
%) 0 I wl
) (&} : Bl
£ % i
3 & _
= i 1833
4m.‘m M,
& 5
boEg
11 4
[ i
Ll
L . ONMNI4D HOTUYE o NSO AMOTUVD Prod
m N el ; L i
L i ; ;
T ‘‘‘‘‘‘‘‘ o PP i s i e s 5 b
L
Lo
| £
i =z =
arny Pl o Q
© 110 E 5
byl g w
i 2 = oW
@ w g Wi, <
~ LB T d g B
1 n.m .ﬂWﬂ.r v oL
O SSa0 s Fiy of
O IEsdiy U S
w5i528 =2 mQ.
=0 Wi
3 50 m e
Jan 23 Rt
Ny 1 I, ~
Hrtsrs e e e TNINZED AHOPUYO ¢ £
! R e ———— i WD
H | i I e —
m i Py i)
| D | L
| \ | o
i e e S i = s e
= =5 - A
O : {4
o i & ] 0
i -
: N
fan i N g
) o B Bl
o g i TN
¥ - - ~
O WMW& e
S 7558 o
-<
LS
m o
L. ONBI) IHOTAYG : i
S -2 REl e 23 Gk i R r.tlm b
! i
@ |
| e e i = = = ] -




Test Specimen Complies With

These Details. Any Deviation Is Noted.
Report No. 20884-2 By: JB

Test Date: 07/25/19

CONT. SLICONT CASKET -

COMT. STRUCTURAL SEAL
USE DOW CORNING 935

CONT, SILICONE GASKET oo oo 2 /4 x 1/2 SETING BLOGK
i = - {2} PER DAY 4 LONG LOCATED © 1/4 POINTS
CONT. STRUCTURAL SEAL ' 5[2267 E
USE GOW CORNING 535 Loy e G i 316 MUMINUM CLASS REST
Y i 3 . {‘,,4»2,’ PIR gAY 4 LONG LOCATED @ 1/2 PUINTS

1/4 x 1 3/16" SETTING BLOCK
{2) PER BAY # LONG LOCATED oot
AT /4 PONTS
3/16 ALUMINUM GLASS REST
{2} PER BAY 4 LONG LOCATED «oe
AT 1/4 POINTS

CONY, BACKER ROG ANG SEALANT
U5E DOW CORNING 745 SILICONE

CONT. SEALANT
USE DOW GORNING 705 SILICONE

STRUCTURAL SEAL FLANGE
ATTACHED TO PURLIN USING e

1/4n20 « 3/4 FLAT HO SCREW TYPE P P
LOCATED @ 67 O.C. 7/

CONT. SLICONE GASKET —

538070 EXTRUDED ALUMINUM
STRUCTURAL SEAL FLANG

ATTACHED TQ PURLIG USING

1/4-20 ¢ 3/4 FLAT HD SCREW TYPE “F*
LOCATED © &' 6.C.

% Imry. jEv | oAt

— " DADE COUNTY USE
X LWL, TE o
ATTACH PURLIN TQ RAFTER rooons e

(2) PER END (4) PER PURLIN

£14 x 1 5/2 HwWH TEX SCREW
ATTACH PURLIN TQ RAFTER
{2} PER €MD (4) PER PURLIN

HOBAST? EXTRUDED ALUNINUM PURLIN

5/8 HEX HD, CAP SCREW GRADE 2 MN.
VATH FINISH NUT, LOCHWASHER
AND FLAT WASHERS BOTH SIDES
ATTACH ALUMINUM ANGLE TO RAFTER ™
4 172" LONG AT INTERIOR RAFTERS
1 1/2" AT EACH CORNER
063 FORMED ALUMINUM CLOSURE FLASHING —
3/8 x4 x 3 x4 3/8 LONG
STRUCTURAL ALUMINUM ANGLE G061-TG

-
HOBES? EXTRUDED ALUMMUM PURLIN -~

4 3/8°

s M%ﬁlg;.theﬁ

\

P DADE COUNTY USE

LG SR 3 /. S—— L

(2) PER INTERIOR RAFTER ™

9) AT EATH CORNER

3/8 GRADE 2 WEX HD. TAP BOLT

WITH FLAT AND LOCKWASHER

DRILL AND TAP INTO STEEL

ATTACH ALUMINUM ANGLE TO STEEL

1 174" MAX. FROM HEEL OF ANGLE

STAL N AND AROUND LUG AND FASYENER |
USE DOW CORNING 795 SILICONE

063 FORMED ALUMNUM SILL PLATE

z

10 x 1/2 $/5 PAN HD. SMS.
LOCATED @ 12° OC. -
ATTACH CLOSURE FLASHING TO SIL PLATE

316 x 3/2 FOAM TAPE

“_'“"*“""i”’J L

ALLOW 3/4" INTERRUPT © WEEP et
£ - - AR
(KT PART & BRODLCT ABFROMY ! ENGINEER! STAME 7] %
SEE DETAL 15 ON SHEET 10 FOR ! o~ L A
CONCRETE CONNECTION DETAIL [
LN S EEE
i DETAH i g
P oAl
JfoobanZ e ke
2 e I/
La o L
it L

4of 13




Test Specimen Complies With

These Details. Any Deviation Is Noted.
Report No. 20884-2 By: JB

Test Date: 07/25/19

.125 FORMED STEEL FRESSURE CAP
ATTACH 70 ALUMINUM FRESSURE CAR
WIH 1/4-20 % 5/8 HWH TYPE 'F"

LOCATED @ 8" 0.C

TSOLATION MEMBRANE -,

12
52262

1/4-20 X ¥ BLH, sms\v TYPE *FT
.- LOCATID @ 2 3/47
7 KTAH PRESSURE CAP T0 RAFTER
EHE?D =D N COW CORNING 735 SILCONE
083 FCRMED ALUMNUM COVER CAF
125 FORMED ALUMINUM FRESSURE CAP
- CONT. BA16 ¥ 1/2 FOAM TAFE

. GONT. SILUCONE SEALANT
A" USE DOW CORNING 735

“\\

|
i
T

2 s S t R

Pt i

““-“" e "HOBBSE EXTRUDED ALUMINUM RAFTER

\ N o, TOGOBS EXTRUDED. ALUMINUM
; HTERNAL LUG

TN 3/8-36 ¥ 1 TRUSS HEAD
THAEAD ROLLING SCREW
ATTACH RAFTER TO INTERNAL LUD

3/8-16 X 1 1/2 HEX D TAP BOLY

SUONE 5. 7R (8 -

e WATH FINISH NUT, LOCKWASHER
AND FLAT WASHERS BQTH SIOES

fommen 2

ATTACH INTERNAL LUG YO RAFTER

i 3,’swzs % 4" HEX WD, CAP SCREW
. e FINISH KUY, LOCKWASHER
b Aug FLAT WASHERS BOTH SIDES
AN ATTACH INTERNAL LUG TO RAFTER

s

4" THICK ALUMINUM
CEMENT FLATE

7 D5 X 5 5/8° HigH
6051-T6 MNMUM

Hip

L3
&/

At }?72’/’7
/gf:/zf [‘?f,zo&/ (f’l'

DETAIL 3/16° FLLET ¥ELD
" 370 X% ELEGTROOES
ALL ARDUND BOTTOM OF PLATE

JOEZ FORMED ALUMINUM CLOSURE FLASHNG

1 5
= 1/4=-20 X 2 1/2 HWH, SLREW Tg 'F"
f _LOCATED © 2 /7 0.5

1 j ATTACH PRESSURE CAP T0 RAFTER

i / EMBED 1O IN DOW CCRNNG 795 SILCONE

i /- 508545 EXTRUDEO ALUMMNUM COVER CAR

| i e CONT, SILIGONE GASKEY
| ¢ f /535591 EXTRUSED ALUMINUM PRESSURE cxﬂ it

H /  CONT, SILICONE SEALANT )

I b/ USE DOW CORNNG 785 .

] / §iZ % 3 RV TER SUREW
H

i

7 e ..~ LOCATED © 12" 0.C.

vl ATTACH ANCLE SPACER T PUALN
o 3/8+18 X 1 1/2 HEX HD. TAP BOLY
- o WITH FINISH NUT, LOCKWASHER
s 7 AND FLAT WASHERS BOTH SIDES

ATTACH INTERNAL LUG TO RAFTER

Y 3 1 muss HEAD
~ THREAD R W
[OATTACH RAFT‘EP ro INTERNAL (UG

| S TS

e

"iizﬂ

| i : /
i f /

Tl Jo o

DADE COUNTY USE

. %&E‘ss

1 DADE COUNTY USE
L i
______ “-*"1‘- T -
Y
h \\
\h\ hY
3 5 Wi
g
™ \ 3/B-16 K & EX HD, CAP SCREW = r: AR
"\ FACE OF TEST CHAMEER e B AT WASHERS BOTH SDES ENGINERA, BTaMP wist .,
= INGF FOR PROBUST APPROVAL) ATTACH INTERNAL LUG TO RAFTZR ¥ wl %1 g
mLMB RAFTER oEFE
ORI ER
NEST ol =8
i §0
s L3
e g




Test Specimen Complies With
These Details. Any Deviation Is Noted.
Report No. 20884-2 By: JB

Test Date: 07/25/19

LE3 FORMED ALUMINUM CLOSY

CONT, SEALANT _
USE DOW GORNING 755 SIUTONE

CONT, STRUCTURAL STAL
USE GOW CORNING 935

o

/"y’ /

CONT. SILCONE GASKEY ““*?‘/ i

BI2970 EXTRUDES ALUM ﬂn!%/

STRUGTURAL SEAL FLANGE— -

ATTAGHED TO PURLIN US!
1 /420 x /¢ FLAT HD SCREW TYPE £~
LOTATED © B 0.C.

4 x 3 1/2 HWH, TEK SCREW
ATTACH PURLIN 7O RAFTER ——
(2} FER END {#) PER PURLN

HEE8ST EXTRUDED ALUMINUM PURLIN -

178 ALUMINUY GUSSET PLATE -~
{2} FER RAFTER

378-16 x | TRUSS HEAD il
THREAD ROELLING SCREW

ATTACH RAFTER TO GUSSET FLATE

FLASHING -

/5 RIDGE KNEE
N5/ DETALL

. _ THIS TETALL HOT PRRY OF
i ;’ SHALL WSSLE FRIQUCT APPROVAL

174" THICK STEEL
SI0E PLATE
ASTM AZE MNDEIM

316" PUET WEw
E70)0 ELECTRODES -~
FULL HEIGH OF RING

RENFORCING PLATE |
~7/16" WDE X §-5/8" HigH
GOEI-TE MN

1447 THICK STEEL
oo BOTOM PLATE
ASTH A3S MINIMUM

1/4" THICK FOAMED STEEL
OMPRESSION RING =~
AST AJE MIN x 87 HIGH BN

3/8-16 X 1 3/2 HEX HD. CAP SCREW
WITH PNISH NUT, LOCKWASHER

AND FLAT WASHERS BOTH SIDES
ATTACH INTERNAL LUG TO RAFTER

378 ook w7

i TOCURS EXTRUDED ALUMINUM
“7 INTERNAL LUG

M 3/8-16 x 1 TRYSS HEAD
" THREAD ROLLING SCREW
ATTAZH RAFTER 10 "V‘ER‘ML u.a

v, jym | e

ENCRVEER TaMP

DADE COUNTY USE

S

:
'§{

W
R
15
I
o ‘&"
il =0
vl EO
oy
ﬂ.ﬁ—“
g
w_..u
g

6of 13




Test Specimen Complies With

These Details. Any Deviation Is Noted.
Report No. 20884-2 By: JB

Test Date: 07/25/19

TAA-20 ¥ 2 1/2 WNH, SCREW TYeE 77
. LOCATED @ 67 ©.C.
ATTACH PRESSURE CAP TO RAFTER
EMEED HD N DOW CORNING 795 SLICONE
/~ SCBE4S EXTRUDED ALUMNUM COVER CAP
£ 535591 EXTRUDED ALUMNUM PRESSURE CAP

T7A-%0 % 2 172 HWH SCREW TYPE
LOCATD © 87 0.0 _
ATIAGH FRESSURE CAP T0 RAFTER /
EMZED MO S DOW CORMNG 795 SLICGNE /
508545 EXTRUDED ALLMINUM COVER CAP -~ /
15580 EXTRUDED ALUMINOM PRESSURE CaP - b

CONT, SILICONE SEALANT
USE DOW CORNNG 785

_ CONT. SUCONE SEALANT
USE DOW CORNING 795
1/47 % 3w 37X 47 LONG _

STRUCTURAL ALUMINUM ANGLE

|
|

- 6D FORMED ALUMMNUM ANGLE SPAZER

““““ 174 DA, BOLT.
TUTRITE FLAT AND LOTKWASHER
GRADE 2 MiNMUM

T AT 1/2° MAX, FRON HEEL OF ANGLE
1 e {2) BER ANGLE AT 2 142" CL TO QL
1 A DRILL AND TAP INTO STEEL
ATTACH ALUMNUM ANGLE TO STEEL

§12 x 1 HWH, TEK SCREW
LOGATED @ 127 O.C

ONT. SUCINE GASKET <
o ATTACH ANGE SPACER O PURLN

r'Em-
#14 % 1 1/2 HWH. TEX SUREW 7 =
oo ATTACH PURLIN TO RAFTER '
{25 PER END (4) PER PURLN

e 63 FORMED ALUMNUW CLOSURE FLASHING 3 4

giexy1/z nwk T sorew ST ‘ |
ATTAGH PURLN T0 RAFTER -/ —W—g:—" B

{2) FER END {4) PER PURUN

i

HDBAS7 EXTRUDED i

b

- | LUMINUS PURLIN

ALUMNUM PURLIN i ‘, ALUMINU PY
:

[~ HOBBST EXTRUDED
12 2 Y HWH. TEK SREW

™ - LOCATED @ 127
1 H i ATTACH ANGLE S="AC€.R T0 PUR(RN

come 063 FORMED ALUMNUM ANGLE SPACER ™7

e MOIOTE EXTRUDED ALUMINUM TUBE
-~ SOBZ4S EXTRUDED ALUMINUW COVER CAP

=

i

] i
acurlite

]

i

J‘ E
155591 EXTRUDED ALUMINUM FRESSURE CAP i ‘ i
#12 x 1 BWA. TEK SCREW

$12 = 1 MWK TEK SCREW LOCATED @ 12"

0.
LOCATED € 12" 0.C
ATTACH SLOPE PURLIN TO SLOPE RAFTER B ATTACH FURUN TO TUEE =
LSO ATTACH VERTICAL GABLE FOST L 37420 K 2 142 BWH. SCREW THPE "E = = 3
AT APEX USING {4) FASTENIRS - LOCATED 05 9.0 - S31713 EXTRUDED ALUMNUM PURLIN =
o TTACH PRESSURE CAP TO RAFTER i
3 EUEEE o i Dow CormAG 75 SuconE N i
- CONT, SILICONE GASKET
12 % 1 HWH, TEX SCREW ol T/87
GABLE HEAD ATTACH ;Umggrmrs.wa RAFTERS AT ENOS e o
7 AND GAEE P
//T\ B / {3) AT EACH END AND (4) AT CENTER i
SR g L Lo \Z/  DETAIL y CONT, SILICONE SEALANT o —
{1) PER EACH SDE OF GABLE POST 7\ i ) "/ USE COW CORNNG 795 T PR coNT. SLCONE SEALANT
{2} PER CONNECTICN ! | | A1 HE i Van CONT. SIUGDNE GASKET § T ST DOW CORNING 795
1/4 DIA. THRU BOLT. CAP SCREW X AAT ! L S0B545 EXTRUDED ALUMINUM COVER €AR " 538551 EXTRUCED ALUMINUM PRESSURE CAP
3D LAY WASLERS BOTH SOFS - g, aalie +: ! R Y - SOBSHS EXTRUGED ALUMINUM COVER CAP
ATTACH STRUCTURAL ALUMINUM : ! - SISEAT EXTRUDED ALUMINUM PRESSURE CaF S, 1/4-20 K 2 1/2 HWH SCREW TYRE ‘P
AMOLE JOOMBEFORT T ! ; A0 X 2 1/2 . SCREW T L N AT 08 0L e
. LOCATED @ € ATER
iR lecH et Ty A PRESSUAE CAP T RAFTER (T GABLE POSHEED 10 1 00% SoRVING 755 SLCoN
CRAL AND TAP INTO STEEL @ O EMBED HD IN DOW CORNING 785 SIUGONE £ ;
ATTACH ALUUNUM ANGLE TO STEEL Y S P2 %1 HWH, TEK SCREW \_j_/f DETAIL W ail
i A e Tt s S | LOCATED @12 DG =l =
ATTACH ANGLE SPA T PURLIN I
SEAL N AND AROUND LUG AND FASTENER _ o w2
4SE 'DOW CORNNG 785 SUCOHE —@‘ . E DADE COUNTY USE AT
! } i bl
"“ Fl 3 08T FORMED ALUMINUM ANGLE SPALER f % Ej ’ =
063 FORMED ALUMINUM CLOSURE FLASIMNG OESE-
£ - 083 FORMED ALUMINUM Sib PLATE W 1) DEE &
¥ 10 x 1/2 575 PAN HD. SMS 2 i ) mW
~.._ TEX SCREW EMBEDED IN SEALANT T LOGATED @ N e L /
e VD FOR INSTALLATION PURPOSES ATTACH CLOSURE FLASHING 70 Sl PLATE A S A
NOT PART OF PRODUCT APPROVAL 3/16 ¥ 1/2 FORM TAVE
T ALLOW 3/4° INTERRUPT © WEEP

STEEL TugE
T (NGT PARY OF PRODUCT APPROVAL}

/5N GABLE SILL
N2/ DETAIL




Test Specimen Complies With

These Details. Any Deviation Is Noted.
Report No. 20884-2 By: JB

Test Date: 07/25/19

e CONT, SLICONE GASKET

o e A
HOI071 EXTRUDED ALURMINUM TUBE - --~--{l }

#12 % 1 HWH. TEK SCREW
LOCATED © 127 0.~ -t
ATTACH PURLIN TQ TUBE

S3I713 EXTRUDED ALUMINUM PURLIN —m

e jer | eam

CONT. SIICONE QASKET —-— o

i
' 144 x 1 3/16" SETTING BLOCK
. /! == (2) PER BAY & LONG LOCATED
\\ ‘/ 7 AT 1/4 POINTS
g /
e, Fi
RIS Oy / o 174230 X 2 1/2 KWH, SOREW TYPE 'F*
Yy Sl / / . LOCATED 8 5" 0.6
b \.,_\:.‘._:1_ ~ ATTACH PRESSURE CAP TO PURLIN
\-\\ EMBED HD B DOW CORNKNG 795 SIICONE
3/16 ALUMINUM GLASS REST . SHIM. FASTNE AND SEAL
l‘:\:\ /7 A5 REQURED
i
#14 % 1 172 HWH TER SCREW
ATTACH PURLN 10 RAFTER - -coev
(2) PER END (4) PER PURLN
HOBBST EXTRUDED ALUMINUM PURLIN ——r—f--
5 é )
]
et o P bbb i

SILL

N5/ DETAIL
THIS DETAIL IS NOT PART OF PRODUCT APPROVAL

CONT, GLICONE SEALANT .~
USE DOW CORNING 795

535501 EXTRUDED ALUMINUM PRESSURE CAP -
508545 EXTRUDED ALUMKUM COVER CAP ~
1/4~20 % 2 1/2 WA, SCREW TYPE FT S
LOCATED © 6 0.C. ./
ATTACH PRESSURE CAP 10 RAFTER
EMBED HO B DOW CORNING 795 SLICONE

& DETAIL
THIS DETAIL IS NOT PART OF PRODUCT

DADE COUNTY USE

~
ST
SECURE SERIES
SMALL MISSILE

D‘E{KELS




Test Specimen Complies With

These Details. Any Deviation Is Noted.

Report No. 20884-2 By: JB
Test Date: 07/25/19

WOOD BLUCKING
{NQT PART OF PRODUCT APPROVAL) )

o Ty "),Ii:——rﬂ"”"é

63 FORMED ALUMNUM CLOSURE FLASHNG = ol .
farms ,—"'H’ i S ,.wm,—»—""""
"/5;%__ e
A . et e
'p e T
§12 x 1 WWH TEK SCREW \
LOCATED © 127 0.8, — o B AN
ATTACH ANGLE SPACER 70 FURUN ) O
(125 FOAMED ALUMINUM ANGLE SFACER -remmmmrfimwr j 3 N 378w
3 ATTAGH ALUMI
1/4-20 X T 1/2 uwH SCREW TYPL "¢

ATTACH F—‘RFSSURE CAP T
EMEED HD i DOW CORNME 785 SLILONE

145 FORMED ALUMINUM PRESSURE CAP
CONT. /16 X 1/2 FOAN TAPE

CONT. SILICONE SEALANT /
UUSE DOW CORNING 79

i
i

TGOGES EXTRUDED ALUMINUM 74"‘

INTERNAL LUG

_HIP

“DETAIL

CONT, SHICONE GASKET -

CONT. STRUCTURAL SEAL

USE DOW CORNNG 9957

174 % /2 SEZ“FNG BLOCK

{2} PER BAY 4 LONG LOCATED © § FUIHTS
3/16 ALUMINUM 4

(2} PER BAY 4 LONG LOCATED © 174 PQ@NYS“ 3

CONT, BACKER ROD AND SEALANT
YSE DOW CORNING 795 SWICONE

. WITH FINSH NUT,

RUM ANGLE

LB 3 x 4w 7 374 LONG
Smuc“u-m. A' UMINUM ANGLE
1/2+13 X 4 HEX HD. CAP SCREW
i L QCKWASHER

AND FLAT WASHERS BOTH STE

LA FORMED ApuuNud CLOSURE FLASHING

4 HEX HG LAG SCRIM WITH FLAT WASHIR
TO TEST BUCK

53

WOOD BLOCKING
(NOT PART OF PROJUCT APPROVALY

S28970 £XTRUCED MLM MM
STRUCTURAL SEAL FL

ATFTACHED TQ PURLIN JSI’w 5 -]

VA4-20 x 24 FLAT KD SCREW TYRE T
LOCATID © &° O,

b 7'-'*;_.7r\|"'| T

o o ) r':j;"i

o 3/B X 4 HEX MU {AG SCREW WTH FLAT WASHER
ATTACH ALUMNUM ANGLE TO TESY Bulx

x & x 7 3/4 LONG

STRUCTURAL ALUMINUM SNGLE
1/2-13 X 4 HEX HD, CAP SCREW

BT

ATTACH STRUCTURAL ALUMINUM ANGLE TO RAFTER

. WTH FINISH HUT, LO;'XWAJ'E
T OAND FLAT WASHERS BOTH SDE
ATTACH STRUCTURAL ALUMINUM ANGLE

£ 70 RAFTER

- HOBBSE EXTRUDED ALUMINUM RAFTER

L 1/4-20 » | FLAT HD SCREW TYPE F™

"- ATTACH RAFTER 10 INTERNAL LUG
b 3/8-18 X 4 HEX KD, CAP SCREW
L. WITH FINISH NUT, LOCKWASHER

AND FLAT WASHERS BOTH SIDES
ATTACH INTERNAL LUG TQ RAFTER

4w 5172 HWn, SCREW
-~ ATTACH FURUK TO R,
(2) PER END (4} PER FURLN

- HOBAS7 EXTRUDED ALURNUM PURLIN

3/8~16 X 4 HEX HD. CAP SCREW
. WITH FINISH NUT, LOCKWASHER

= 77 AND FLAT WASHERS BOTH

P /

v /
. i

4 / _3/8x3x3x7 34 LONS
/ / STRUCTURAL ALUMINU

/ /
T

sanaia sxmu;m ALZMINUR A
RAL STAL FLMNGE 7
TINCHED 10 FURLN USAG -
3/4 FLAT HD SCREW TYPE “F~
LOGATED © &° G.C.

/420 »

DETAIL

WOOO BLOCKING /7
{NDT PART OF PROCUCT APPRQOVALY

e (2} PER BAY 4 LONG LOCATED @ 1/4 POMNTS
ATTACH STRUCTURAL ALUNINUM ANGLE TO RAFTER

(2) PER BAY 4 LONG LOCATED @ 1/4 FGNTS

M ANGLE

3/8 w A4 HEX HD LAG SCREW WATH FLAT WASHER
/7 KTTACH ALUMINUM ANGLE TO TEST 8UCK

1/4=20 x 3/4 FLAT HD SCREW TYPE F"

CONT. BACKER ROD AND SEALANT _
USE DOW CORNING 795 SLICONE

CONY. STRUCTURAL SEAL .
USE DOW CORMING 733 4

CONT. SUCONE GASKET -

538670 EXTRUCED ALUMIRUM
STRUCTURAL SEAL FLAN
ATTACHED 7O PURLIN USING -,

LOCATED & 67 OC.

/4 = 1/2 SETING BLGCK

3715 ALUMINUM GLASS REST
CONT. BACKER RCD AND SEALANT
USE DOW CORNING 783 EL.CONE

CONT, STRUCTURAL SEAL
USE DOW CORNING 995

CONT. EPOM GASKET -

Yopd a1 1/2 HAH
D Sl o e

{2) FER END {4} PER FLRLN

RIDGE

/TN HORIZONTAL

N2 DETAIL

"XJRUDEﬁ ALUKNUM )

" ATTACH PURLN 10 RAFTER
(2) PER END (4) PER PURUN

~ HD8857 ENTT%LDEG )LUH\N‘JH PLRLIN

ircv. Jom | oaw.

L8017 ngu;]gg

DADE COUNTY USE

g2
G2
i ic
mnwﬂ




Test Specimen Complies With

These Details. Any Deviation Is Noted.
Report No. 20884-2 By: JB

Test Date: 07/25/19

CONT. SLICONE GASKEY -~

CONT. STRUCTURAL SEAL
USE DOW CORNING 9935
/4 x 1 318" SETTING BLOCH
(2} PER BAY 4 LONG LOCATED —moe ooy
AT 1/4 POINTS
3/16 ALURINUM GLASS REST
(2} PER BAY 4 LONG LOCATED -

AT 174 POINTS ¢
CONY. BACKER RED AND SEALANT o
USE DOW CORNING 70% SILICONE (
\\

1/4-20 % 2 1/2 HWH SCRDW TYP[ °F*

. LOCATED @ €" 0.C. S2EP70 EXTRUDED ALUMINUM
| ATTACH PRESSURE CAP TO RAFTER STRUCTURAL SEAL FLANGE
i EMBED HD IN QOW CORNING 785 SILICONE ATTACHED TO SURLN USING -
1/4~20 x 2/4 FLAT HD SCREW TYRE "F"
LOCATED @ 6" QQ.

[ S0B%A% CXATRUCED ALUMINUM COVER CAP

SIGHF EXTRUDED ALUMNUM PRESSURE CAP
i _ EONT. SILICONE SEALANT
/ USE DOW CORNING 785

Py, e | pam:

053 FORMED ALUMINUM CLOSURE FLASHING —

#14 x 1 172 HWH TR SCREW
ATTACH PURLIN T0 RAFTER - -
12 x 1 HWH, TEK SCREW {2 PR B0 (4) Pes PN
CCATED @ 12° 0L

0E3 FUAWED ALUMNUM ANGLE SPACER - m\v
L
ATTACH ANGLE SPACER 10 PURLIN }\(

HOBB%T EXTRUDED ALUMINUS PURLIN ~

17213 HEX HO. CAP SCREW
WTH FINISH NUT, LOCKWASHER

i HOZHS7 EXTRUDED ALUMINUM BURLN AND FLAT WASHERS BOTH SDES
b ! ATTACH MLUMINUM ANGLE To RAFTER =]
/ 4 3/2° LONG AT INTERIOR RAFTERS
\ / ] 11/2° AT EACH CORNER
\ 063 FORMED ALUMMNUM CLOSURE FLASHING ——]

L @18 x 1 1/2 HWH, TEK SCREW
‘o ATTAGH PURLN 10 RAFTER
(2} PER END (4) PER PURLN

3/8 % & x & x 4 3/8 LONG
STRUCTURAL ALUMINUM ANGLE

{2} PER MTERIOR RAFTER ~ ]
(3) AT £ACH CORNER
578" DIAMETER 11W RED HEAD ADHESIVE ANCHOR WATH
AT ACRYLIC ADHESIVE 5 5/8" MINMUM EMBEDMENT

: CENTERED IN WALL WITH ASTM A193 GRADE B7 .-
/ (SAE 4140} THREADED STEEL ROD WITH FLAT AND LOCHWASHERR
LOCATE AT 2 1/4% MAXMUM TROM MEEL OF ANGLE

- 7/8

; ECAL N AND AROUND LUG AND FASTENER
y USE DOW CORNING 785 SIICONE

WOOD BLOCKING 7
{NOT PART OF PRODUCT AFPROVAL} 063 FORMED ALUMINUM SUE PLATE — i n

-
i
i
|
|

P
L
"

#10 x 172 5/5 PAN uD. SM S & > - ®
LOGATED & 32° O.C.~ L2
ATTACH CLDSURE FLASHING TO SIL PLATE -

JAME
ETAIL

2l o

CoATER SLALT

lmr-»-

CORCRETE GURE """

{8GT PART OF PRODUCT APPROVAL)

B ~SKHL

<, >
38 % 1/2 FOMM TAPE i ¥ x
ALLOW 3/47 INTERRUPT @ WEES | T * OB

OEAL

VUV BDPY
4
v

DADE COUNTY USE

g

SECURE SERIES

T

SMALL MISSILE

DETAILS

ST

BRLT

100f 13




Test Specimen Complies With

These Details. Any Deviation Is Noted.
Report No. 20884-2 By: JB

Test Date: 07/25/19

WEEPACE AT SILL

If ANY WATER WOULD
HAPPEN T0 PENCTRATE THE
SILICONE JONT 1T WOULD

| BE PiC(ED UP N THE

7 WELL OF THE PURLIN

/ AND TRENSFERRED TO

THE CONDEMSATION
f&ck OF THE RAFTER.

7

ITS WAY FORWARD 10 THE
EDGE OF THE SLL PLATE
AND DREN AT THE 347 V0D
IN THE SPONGE GASKET.
VO FILED WTH 30 PP WEEP BAFFLE.

WEEPAGE AT INTERMEDIATE

FANY WATER wOULD

TRACK OF THE RAFTER.

THE WATER THEN RUNS
DOWN THE CONDENSATION -
TRATK 10 THE SAL PLATE.

pre fee | pam

_ acurlite

"
5 2
3
i " w g
ijf:?\ L=
R [ BV 4]
DADE COUNTY USE ENGINEERERTAMP sl
wl=1Y
o | —_
X HEE
¢ HEE
oy Y
i
e
ere
11 0f13




Test Specimen Complies With

These Details. Any Deviation Is Noted.
Report No. 20884-2 By: JB

Test Date: 07/25/19

}m;w@ VU [
U
H

a.k
B

|
Ll
o
o
i ~ b~ 0425
i
| |
A IRl (R
b 1,250 - m)eéc o
e LD o]
Args: 46277
Perimmten ?cm“ﬁzmc o
cunding box: . =L250 —-- 1,
Semctna b ¥: ~4.1528 -~ 3E472
Uoments of imertio. X 31,3563
¥ 3.5864

Product of merti: XY G:0000
Radi of gyration: ﬁ: 21743

Frincips: moments ond X-Y direstions thout centreid:

- 35864 clong [0.0000 16090}
d' 313863 oleng [-1.6000 0 Goo0]

Walght per liaeal fouk: 477 ibs.
Muminum Aoy 506316

HO8858 RAFTER

Arag
Perimator: 75289 .
Bounding bow X =1.2500 ~- 11500

¥, -04392 -~ DA228
Moments of inertio; X 00040

¥ 01763
Produst of inertia i\'.cf?‘.gzogo
Rodi of tiars : 7
EOCHlopRRS ¥ 0.9151
Principal moments s‘..'m K=Y directions cbout cenalroid:
049 glong {10000 CL.0000]

U 01783 dong [0.0800 1.0030
1 per dineg? foot: .25 Ibe
e Al o EQ62-T6

/508545 COVER GAP

1244 b 1,255 —]

~ 2500 ot
Ares: 1E583
Berning b e 1.2567
ounising box: s =1, we 1.2567
A T ~2.0500 ~- 12880
Mernonts of inertio: X 1AZED
¥ 14451
Product of nertin. XY -g{p:sz
Rodi of gyration: ¥ 14204
# ¥ 05237
Principal moments oad X=Y directiony cbout centroid:

k14483 g

g [$.8000 0.0082)
Weight peor Menl foot 189 s,
Atystinum Aloy EDG3-TE

/> HOB857 PURLIN
u’ 1AL SUALE

) =]
2 2
2 &
Rrao, £.2655
Perimnter BGEEA
Bounding box X =1.16%4 -~ 31,1628
¥: 83 -- 02150
Mementy of :
Froduct of in Xy

io
Radli of gwation:

Princips! momente ond x Y directiens cbaut eentroid:
GUI2 along [1.000G 0.0G30]
5 mwu weng [0.0600 1.0000}
Weight per linesl foat:0.154 1bs.
Muminum &loy EOB3~T8

“\ 533591 PRESSUR{: CAP

g [0.0082 -1.0060}]

Area: 0.1307
Parimeter: 15.0200
Bounding bow K o-1.2403 -~ 12897
Y. 04032 =~ 04558
Moments of et ¥ 0.0000
¥, 04177

Praduct of nertis: ::*'u—}ﬂsggz?
4 of gyration %0
Radd ot giva Y. 07561
Principol momants wd X~Y directions ubml eentroid.
L0800 along {0000 ~0.0080}

J 0.4178 along [0.0080 1.0000]

agt foot:(.BS ks

oy ES3-TH

£, S31713 PURLIN

[l AT E

2.0000
Boundirg box K 12500 ~- 12500
¥ —LIE00 ~e 12500
someats of hertisn K 1163
RRALEE) B
Praguet of Inertio Xv. 0.0000 3
Radii ol gyretion: ¥ 09702
Yo QAIE
Principal mornents dnd XY dreclichs ghoul centrsid: i
b 1.185 olong [0.767 ~0.7071])

& 11195 gisvg [0.7071 0.7071)
Vislght per linect foob 5,39 fbe
Aurmingme Aoy 606216

/T H01071 TUBE
oS hasAr

Inc.

15}

acurlite

% g.l i
i S
i g
| o
L _|
Areq: ?
Ferimeter:
Boundging box
Moments of inectis
Preduct of inertin:
fedi ol qyration;
Fringipel moments ond X=¥ duectiznz ebout centroid:
11673 dlong [1.0000 ~0.0004}
» 1.3224 clong [0.0004 10000}
Welght per lineal foot: 2.335 iba.
Aeminum Aley BOLI-TE
v
r’"\TOOQSS INTERNAL LUG =
T RLLAEALE -
w e
s gl |2
o '-J_"! E
DADE COUNTY USE & S =
2115
iSO pc
FOESLE =
s
Wi U |0
Y




Test Specimen Complies With

These Details. Any Deviation Is Noted.
Report No. 20884-2 By: JB

Test Date: 07/25/19

T
i
4
i
I
1 i
b
1 i
H I
I
o
wo |
a5
}’" |
Uescrintion: Struslurel Mumioum Angle =
Size:3/B x 4 x 4 T
Moterial: Rlumninum {Alloy E061-T6) S
w

iy

!

L
o
| |

E——

Leseription: !;ui;tl Plate
"4 Thi

Cescriplion: Gloss Rest
Sie /1B Thick
Materiol: Aluminum (Alioy 6385-T8)

S AL
W T

e,

Cescripticn: Formed Cover Cop
Size: G40
Material:

Ceseriplien: Formed Pregsure Cop
Slie: 125
T Meterial: Alurminum (Afay 1003}

Deserplion: Structural Numinum Angle

Size:3/8 ¢ 3 2 3
Materialh: Aluminum {Alioy 6051-T6)

Descriplion: Pop Rlvat
Shaelf8 x 174
Materiah Aluminerm

Description: Pon Head Sheet Metol Screw (Pen He SMS)
Size g0 x 172
Material Stoniess Stesl

ﬂu:r-ptm Hex Wigsher Heod Tex Screw (RWH Tek Screw}
M2 x

Hnt rh _SAE Grade Z Steel

Descrip b:-\ Truss Heod Thresd Rofing Screw

i 8-18 x 1"
a{..'d.l.. \ro‘: 2 Stesl

Description: Hex Wosher Heod Tok Screw (HWH, Tek Scraw)
Size §t4 x ¥ 1/2
Materialh SAE Grode 2 Stee

ujwﬁf_ﬁi}m@m e

SV —

o rqx Head Cap Strew with Finigh Mut, Figt Waoshers one Lockwasher
B-36 x & 1/2
ASTM Grode 2 Stest

Destriptian: Hex Head Tep 8ol with Flat Washer neg Lothwasher
Sie 14213 x 2
. ASTH A443 Grade §

riptign: Hax Heod Top Boit with Nut, Flgt Washers and Loskwather

4
feoterici: ASTM Geade 2 Steet

LT

I

| ST NOS—

- 8732

> Manufocturer: 2iolge
H i Ceseription: Selting Block
Matericl Siicone

b T et
Monufacturer Trelisborg
ot
&
)
¥
b 3/
H

. fn

e 1534327 e

| ““_t\\fv/y

.v,re_

N

pe 45'2 é’/.:‘a-; \f
E!!'IcrlQi»:ﬂ Fcr"l"‘ Freaiure ;.e:p
S7e:.125 ™

Heterial: c\acl »\ T A3G

s el wwitasidite s

= gcurlite

Daseription: Hex Heod Cp Screw with Finlsh Nut, Flat Weshers ond Loghwasher
Size: 1,'2 15 x4 142
SAE {rade 2 Steel
nl 2
&
oy
P
<
wil w8
R
=135
DADE COUNTY USE & sl=
Lt = LL
o g__‘ o
8 < 3 -t
wiEs i
LNV g e
£
lﬂl\l
et
g
m‘ g
ST
130f13




	Acurlite Structural Skylights
	PRODUCT TYPE:  Fixed Skylight Assembly
	SERIES/ MODEL:  “Secure Series”
	For National Certified Testing Laboratories
	NCTL-110-20884-2
	REPORT TO:
	ACURLITE STRUCTURAL SKYLIGHTS
	1017 NORTH VINE STREET
	BERWICK, PA 18603
	REPORT NUMBER:  NCTL-110-20884-2
	PRODUCT TYPE:  Fixed Skylight Assembly
	SERIES/ MODEL:  “Secure Series”
	Date Testing Started 03/27/19
	Date Testing Completed 07/25/19
	Description of Specimen Tested
	Note: All dimensions are in the order (Width x Height x Thickness) unless otherwise noted.
	Model/ Series “Secure Series”
	Overall 33.02 mm (1.300") nominal
	Glass Thickness (1) Lite of 6 mm (0.220") nominal tempered glass to the exterior and (1) lite of laminated glass to the interior
	Glazing System Exterior glazed with a multi-fin gasket back-bedding and a screw applied pressure plate with (2) strips multi-fin gasket. The 1/4 - 20 x 2 1/2 HWH type F and 1/4 - 20 x 3 HWH screws were located 64 mm and 70 mm (2.5" and 2.75") on cente...
	Weatherstrip No weatherseals employed
	Reinforcement No reinforcement employed
	Weep Description
	Size 19.05 mm (0.75") Gap in sill pan sponge gasket
	Location Sill/ rafter intersection
	Interior/ Exterior
	Surface Finish Painted aluminum
	Sealant
	Location Exterior perimeter of the glazing, horizontal member back-bedding flashing to frame
	Material Silicone
	Insect Screen No screen employed
	Installation Method The assembly was installed in a steel/ plywood test chamber. The assembly was fastened to the chamber with aluminum angles at each end of the rafters. The angles were fastened to the chamber with (2)  1/2 – 13 x 1 – 1/2 grade 5 Hex...
	Test Results - TAS 202
	Test Method Test
	Test Method Test
	Test Results - TAS 201
	Test
	Small Missile Impact
	Type and weight of missile: (10) 2 g steel ball Speed 130.0 ft/ sec.
	*All impacts were performed on the left lite of glass
	Location
	Specimen 2
	Specimen 3
	Specimen 4
	Test Results - TAS 203
	Test
	Cyclic Wind Pressure Loading
	Test Results - TAS 203 (continued)
	Test
	Cyclic Wind Pressure Loading
	Test Method Test
	National Certified Testing Laboratories

		2022-01-05T08:59:22-0500
	Joseph Reed


		2022-01-05T08:59:32-0500
	Joseph Reed


		2022-01-05T08:59:45-0500
	Joseph Reed




